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True or False?

These four calculations have the same
answer.

1+4+2 4+2+1

24+ 4+ 1 44142

These four calculations have the same
answer.

lraie or 5[411,5,;3?

5 -1=6



Continue the pattern
22=29-7
22=28—-06

Deeper thinking

Sam's house

Lara's house

Sam lives 5km from school.
Laura lives 4km from school in the
same direction.

What is the distance between Sam's
and Laura's houses?

After travelling to and from school, Sam
thinks that he will walk Tkm more than
Laura. Is he correct?

Explain your answer.

What will be the difference in distance
walked after 2 school days?



